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BelgwL

uel clotd u2el AMAH 2L S

Belgw

27 : A5 [gua WBdl vl A4l wRRudl w9,

n =10, (x-X)(y-y)=72, 5,=3 21 T(y—-y)?=160 il uell AsAeiuis AL

, el

R G F WY [T O 7SN
4 n 10

gd, AL Yoaui w3 Budl ysdi,

E(x—x) (y-y)
r.= 1SS

y

72
10(3) (4)

N )

120

S = 0.6
28 : ds Rawfe eudda  sidl AR WRwA qugn wd wRat wReun
Q) Aelw oamal s AL sAl 4 W2 wie wdar g RendliAr wysni A
Beal  wsARWAUL  Houda  siqHl UMaa HBA u ouddl auu x (sasil) A

-

ugl dd dada 50 Rl uwdadl dAada o p wddl  AlEAAl uRawdl wd 8.
Tx =133, Ty =220, Sx? =2344, Sy? =6500 21 Zxy = 3500

el gH wsd A X A YAl vadlsddl s As (15,25) 1 eed (13,20) A
gdl. 2 wAl X Ay axd usAeiHisdl wAl Bud Akl

2wl n = 10, Tx=133, Ty =220, Zx? =2344, Ty* =6500 >t Zxy =3500

wigl @ : (13, 20)

WAl s : (15,25)

gl Guisd il YaRdl Budl A yoo Aadle,

2x=133-13+15=135

Yx =220-20+25=225

Yx? =2344 — (13)* + (15)* = 2344 —169 + 225 = 2400

Ty% =6500 — (20)* + (25) = 6500 — 400 + 625 = 6725

Txy = 3500 — (13x 20) + (15% 25) =3500 — 260 + 375 = 3615
gd, il YRl Badl Al Yol ysdi,

nxy —(2x) (¥y)
Jr2? — (202 - Jnsy? - (59)?

10(3615) — (135) (225)
\/10 (2400) - (135)2 ~\/10 (6725) - (225)2
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36150 — 30375
/24000 - 18225 - /67250 — 50625

5775

V5775 - 16625

5775

V96009375

5775
9798.4374

= 0.5894
r o= 059
GelgRl 29 : (1) 2 6 AA X dud ¥V a2 ugAsUS 0.5 &, dl Al Bua sl
@) r (x, ) () r (=, p) (i) r (=, -p)
el 7 (v, y) = 0.5
AsAoibisAL o (. 5) urdl,
i) r(x,—-y) =-r(xy)=-05
(i) r(=x,y) = —r(x,y)=-0.5
(i) r(-=x,—y) = r(x,y)=0.5
2) A r(x,y)=08 & di A4 W2 r(u,v) AL
() w=x-10 x4 v = y+10

(i) u=23 wd y=2y+7

3
_ 2x-3 5, = 100y
(iii) u = 0 At v= 100
(v) w= 5% a3 v=22
2 2
_ 20-x 5y o, = 200y
v) u-= 3 v o= 7

2, r(x,y)=0.8

ASAGIHISAL L2184, (4 2 5 U], u A v A AR 52l 7, v) <l BHd X 24 Y AL 4218151
Ral v 2URA WA 2ed 3 ru,v)=r(x, y) 28dl —r(x, y) 4.

()  r(x=10,y+10) = r(u,v)=0.8

) r(552547) = ruv)=08

@y r

(
iav) r (T’ T) = r(u,v)=-0.8
v r (

103

v YLALLY

s

¢



Gelsel 30 : MBA $[Rezye-t [anlaiil As g gl won saudl iRM addl A4 +ds sau-il
piln aval uai-l wRRUAML Al Aot oRial HSdl WiBse sla dxel dldal
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qadal ol 2staRl (p)l wlsdl uel 1Al uwReudl wa .

n=10,%(x —65)=—2, Z(y - 60)=2, Z(x —65)> =176, Z(y —60)*> =140, =(x — 65) (y — 60) = 141
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= 0.5357
r = 0.54
Y
p (aria ) N
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A wwda aglasew usdl we wAl [Aseudl wedl sA

1. ucRioltnl Aeetdl ¥ 2usladl Agsd Bigyil (vy) salacami »1d d susld di g sl ?

< D

(a) dendwm (b) adn 2usl (c) [aslel usld (d) 2uglt as

~ NN

2. % X uA ¥ oazd A yoer [@glel sisld A dl 6L Ad 3dl uedeln wd ® 7

. (a) Ayel de AsAsiH (b) ils a4 AsA6iY

o (c) @yel =BRL ASRAsiY (d) 2tifLs vl A6y

~ NN

3.0 o X ¥ a2 <A yoer [l suslt A dl 4 6l A4 ddl AcRieln qud 9 7

L ]
v
..

.. (a) Ayel del AsAsiH (b) nils ad A6y

o. . c .. . ..
* (c) Aysl oL ALAGY (d) 2y 1R A6y

4. [aglel suslai oml o Bigll s o Y3l v 2wddl € dl ol Bad g e ?
(a) 0 (b) 1 2 -1 (c) 05 (d) -05
5. ugAsidls il [ o8 7
(a) —l<r<l (b) 0 ol 1 (c) -1<r<i1 (d) -1 4l 0
6. ol A ‘AuUAl BisH [BAL A A4 GRSl visH AL G, dl dHdl Al AgALHIsHL
wsn [ 9 sél wsi 7
(a) (3 (b) Al (c) [l (d) 254 4 ¢l
7. o 6l Ad a2l wA0 YHRME Ssellndl (e Rwmi 5251 aAdl ¢, dl d ol A4 9 sal
UslAL Aol wa ?
(a) 2tilLs 4 AeAoln (b) Ayl BRL ALAsiH
(c) Ayel Hel ASAsiy (d) tifLs B A6y
8.  sld [yl AusAsiuis oalAl ol »ia 9 eald © ?
(a) X 2 ¥ <l [0l opusi2 (b) X 2 ¥« uslaum
(c) X 4 [aum (d) ¥ < [dae
9. «dladl Usl Al 55 BHd uasy «dl ?
(a) 0.99 (b) —1.07 (c) —0.85 (d) 0
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10.

11.

12.

13.

14.

15.

16.

17.

18.

SIBET

1.

A u = 2§y = , €>0,¢,>0 g dl Al WSl sy [ W © 7

(@) reoy)y#r@,v) (b) ry)>r@y)  (¢) r@xy)=r@,v) (d) rx y) <r@,v)

A r(x, y)=0.7 é:B{, dl r(x+0.2,y+0.2) -l [Z4d sl a7

(a) 0.7 (b) 0.9 (c) 1.1 (d) -0.7

B r(—x,y)=—0.5 &, dl r(x,—y)-dl Bod sedl wn ?

(a) 0.5 (b) -0.5 (c) 1 (d) o

B Td2=0 S, dl sHis usAolisdl BHa sedl w7

(a) 0 (b) 1 (c) 1 (d) 0.5

suls AgAola-l AdHl A uds dadisasdl o we uAlid AsdMi R =R, &, dl -l
(Bud 9 a7

(a) 0 (b) -1 (c) 1 (d) 0.1

sHis ugAoia-dl Adnl 6l Ad-dl sHSHAL dsladil ARl 9 wd ?

(a) 0 (b) -1 (c) 1 (d) S5 el ardlas Aval
sHls ugAolarAl il A ol Adi-l s3 visollndl Gl sudl G, dl redl Bud 9w ?
(a) r=0 (b) r=-1 (¢c) r=1 (d) r=0.1

sHIs ASAGHUL YriAddd WHAL UASs Hadlst HI2 WAldd A3dMl g 240 54 ue GHRAME

2d 7
2 3 6m’— 2 _
(a) 2=l (b) 2= (c) foom (d) n(n*-1)

PUR SIS Al Mld RER GlA AR d odqrl dAAlL isHisl Aval vt d-iel adl s
a2 Sl AUl 2l 7

(a) Ayel 8- (b) s aq  (c) Ayel wel (d) 2nils ww

YaAldl WS ALSAMUL XAl UL

AsAGYAl Ayl YL
AAGlsHl AUl AL
Al i w3l 64 AdHl U] % AR U AsACY 9 5 Rl AsAGY 9 d @Rl

wad Wil S8 s Al gsn dlHl BdRlddl avid yud dudl lsadl Gu A was
dlud YlBay
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10.

11.

AlA AL

10.

11.

12.

13.

A5 pudl oigellsd Al Ocdl wim add dlls AR A deul adl st
SIS AUl AHI (sl ias RUR Sl AR goUAl-l €2 A d earll A sl wleaulsd
Ag AUl eadl Gl 2 sl R wuRl

56 Sl Alls Ul A d o AHUAUOUME Udi -] AvUL 4L Aol [ 9

=)

s¢l wsy ?

X 2 Y a2 AqsAoeldls 0.4 9. 8d X Al UAS 2AALSHHL 5 GHRAML 2Ud A VoAl UAS

-~

vadisdiidl 10 olle 2L 2Ud dl L FR812 ol AAoidis o Ul 7

[aglel duslasl you wuler o & 2

f n(n”—1)-l Bud zd>+l Bud sal o owell du, dlorell Bud g s ?

A AuslAAWE Hed B S, dl ARioinis rd R g Ay ?

Yl ¥Alel UL

el A6l el Gelenl AlRd UHoAdL.
B ASU6HAL el Belenl Ald AHoAL
sid Ruadedl DAa-dl @Rl duil.

[aglel 2usla-dl a2l

el ASAGY ved 9 ?

s-slR0L Aol AxAdl.

AL ¢ AYRL B A6l

AHoAdL 1 AYElL wRL ALY

suls Aol %32 AR uy © 7

UL ARONHL sl Al Ad A sHis AUl d Anddl ueAiHls AL Wy D ?

A Cov(x,y)=120, s, =12, 5, =15 ¢t dl r+l (54 2uHL
B T(x=X)(y-y)=-65, 5,=3, 5, =4 254 n=10 &u, dl rl [Exd oWl

pAdlsldl 10 %8 U2 Td2 =120 <, dl sMis qsAstsHl BHd sl
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AL

a W N

n

o L I &

11.

12.

13.

Al ALl

1.

yaeldl  ¥Alel AL

[glel 2usla-dl Ad Avendl.

(glel susla-dl Dad oee A walel ogudl.

ASAGHISAL ORIl @vil,

sid Ml el ol 2 Huleil e,

r=1,r=—1 4 r=0+ »dued L

RUudAAL sHls AgrioltsAl Ad Awxedl

RuuRsisicl suis Agioitrll Ad-l ol A Halelil il
Hifls ueAoife 2daed di 3dl Ad sel ?

ASAiHIsAL vdreml vl usdl wadAdl gl

ol Ad dAule MMEHL (X)) 24 wisHdl Quy (savea/ésex (Y) Qo Rl wuldl wa o,
n=10, x =120, y =150, s, =30, 5, =40 214 Zxy=189000 il U2l Aseitisl (B Ml
waclsdidl 9 s w2 Al Hledl 1o o,

Sx=51, Sy=72,5x> =315, Sy? =582, Sxy=408 il ul ueAeitis olHl

C AN

s U WHHL s WESA ol Falusizl wtdl s udl Al wlkdl 1A @,

5(R,-R,) =126

N

i, R, 2 R, o 6 [R2ldsl gkl s HAdl s34 eald 9. 21 udl RUudA-l s1is
ASAGLHLS ALkl

s WS piddl uiA GHedRIA Sk AR ol [wudil wuudl sH (3, 5), (5, 4),
(1, 2), (2, 3) 2 (4, 1) 9. 21 Hledl vl s4is ugdsinis AL

(Gear E
Bsa Had)

5 RNAWUAL HHY eAMUAL ALS U Ul HRsl dARl BHd 2 d-dl HioL gL
Aol aaal 2sél Al wledl A wuer o,

ata (%) 38 45 40 o) 35

oL (A sHl) 103 2 97 98 100

L Ul MRS oA A ol 922 sld [RuAAdl d usAeluls 0L
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s Vreilds sael el [Qenalpidl didd A8 Q20 2 alsacd [@s gan [l

2.
dsil audl a2l 2ol el uin [QandBidl Fed as 3 Yool Rdl Anaaxi 2ud 9.
(enal 1 2 3 4 5
HidaA A AALAAHL 8L 45 25 40 20 45
fsaca [asiuul R 47 23 17 35 48
L HIRAL uel oid [QudiAl ol a2l sid Rl dd ucricluls ol
3. s [3d R aisd RuRzst dusdl disfad 2402 2i3u4l uelld s 9269 9. dall
el %El alisel [ulesd su wuual o [[wid ddd v [Relld 286 52 9.
faulRes A B C D E F G
Yyd wld sy 5 6 7 I 3 2 4
Mol 2uda su 5 7 6 2 1 4 3
2l uel oid FHwudizt wbal Feldl a2l aRadl 2Rl sHis ASAsitis 2l
4. HglAle ASAHL WAL MU A SI81HAL el a2l Ao Rl HI2 215 dwiR]l Deal 19 W[
250 2 $181HL oudl [agl 1A yoor Hledl wad ©.
28141 Bl €ls aa (3) 340 370 450 320 300 360
s181-01 100 A1 €ls oua () 190 215 200 180 163 175

L Yl 2l A SiSlHL Gl 9 sHls ASACHLS ALkl

s [Azall sa-l @S olonHl vl MBI Mol il HA . sl s [A3dl d [Agail

5.
501 Glla i YRasl 4xL Aold oRldl {12 Yool dedl ed HSHIAL AW MU A YRaAsLH]
dlodl dad 8.
AR MsH eleoua () | 65 | 68 |43 |38 |77 | 48 |35 [30 | 25 | 50
Yasl (Al A sHL) 52 |53 [42 |60 |45 | 41 [ 37 |38 |25 |27
2L HIRAL u2el uRAA eUd A YRasl a2 sHls Aselals L
6. ML AHUAL 2idd [zl ulan dami 2ud dl wRRuHL QAL ol el s Riad
Bedl ol sdllBumi dlidl o ulau-l uReum uell Awd [@enal>iiqn 12 yoor 51 wd 9.
(aenal A B C D E F G
way ulawdl  sd 5 I 2 3.5 3.5 7 6
Bdla wdawat su| 7 1 4 6 5 3 2

L udl old ulaidl wRRUHL 9 UL ARl SHIS ASAGHLS LML
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Al ALl

1.

Bsa Had)

16 [eellml idAl duApA  (eqHl) 2 Baulesdl (eqHi)dl uuledl <l 2t 0.

vid:  (e) 15 18 20 25 29 35 40 38

BGeulesdl (e) | 85 93 95 105 115 130 | 140 | 145

sid Al fd uLAsibis L.

5 M2l ASAL €9 NSl [RRYUL 9134 MALHL dUAAL 26AlRS UL SALSL 2 2s uleuHi

2 ~

dugl Aadal Hedis«t o8l (Grade Point)l 1A+l HilRdl uell s1d Rui--l Ad AusAoinis 2lHl.

QAL Ax Wil adal 218415 A sdLS) 43 47 45 50 | 40 51

wlanal Aadal yeuls- Rl 52 | 49 |50 | 47| 54 | 43

{2l Hledl well ardl-l ofladl (ARa BlEls) ¢ e (2 ) a2 sid [ua-Hl
Ad AA6iULs AL

A8 A B C D E F G

NMadar (AL Bl €ls) 750 600 | 350 500 200 700 850

yye (e saR) 30 20 15 20 10 25 50

§dl52s dvild Gaulert sl Sudlaiicl oadAd-wad 2 duel Al AsifAl weA - 527l
A2l Bl 258l s el 9. 21 Rl ] Su-dliidl Meud-vil A dARL 922l
AsAolals std il Aa Aadl.

syl A B C D E F
MeAd WA (e ) 140 120 80 100 80 180
ddlses v dam (AW )| 35 45 15 40 20 50

s 522 AUl s AAEA 51 M2 WAl A% A g AHA Al lasHL Ay A2l
Aot oeldl s (ARl 2Hs He-lEl elMnidl Ad Mdl A dHel elas-l as (A9

~

Yledl And €.

Wl ax () 59 72 66 64 77 66 60

ouasy  ax () 2.5 34 | 3.1 2.7 2.8 23 3.0

L Hiledl vl Hidl A GlOsAL d%+ 93 $HIs ASAGIHLS ML
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6. vHeldled] [RaAd M AUl 2 2UOASIHAL dARL Q2L A6if qRial Hie LAl Hulddl

qoaaml audl o,

Heu diwd (Alewua) 35 | 42 | 40 39 44 40 45 40

sdusla-y daer (Bar) | 600 | 680 [ 750 | 630 | 920 | 750 | 900 | 720

L uL SHULS ASAUGLHLS QLRI

7. [Azadi ewd sal W2 %33 wdd ulal iAo ddld 9. d lidddd ulal (FHi
vilel ogdiel Ul dlossel ol HA d uglt O)M Medi ude 2da uin [Qendlia 2uys

2¢ldsd (reasoning ability) il @ olldaldl 2dldsdui Hadal oL 1A Hyor .

(aenaT A B C D E
VYD 2LAAHL I8 5 5 5 5 5
SBaa elaaidl wasdui el | 2 2 | =2 0 2

2l uel [Rensae]l 2iuxe siidsd 2A SBaa ol siidsd a2 suis Aeioitis 9l

8. s wausil MM 6L gudl 3R, ©9 JAUsR A, B, C, D, E 4 F 4 dusil gt udl 13
wosol, sH U 6.

$4 1 2 3 4 5 6
uddl R} glRL B F A C D E
ofln AR Gl F A C B E D

L uRell ol ARl Hedist A2l AgRioiis AL

9. o U4 FoUdl (X) A @lwe (Y) " Al wlkdl wa o,

n=>50, Zx=500, Ty =300, x> =5450, Zy? =2000, Zxy =3090

uleonl cRial 4 5, vadis-l s A8 (10, 6) daal adRi-l dals o gdl. L sadis--l
Asd WlEdluial sl wsriolnisdl Bud Al

10, g Ul W2 4R (X) 2w (¥) [@d A weer wldl 1A 9.

¥=58, y=14, S(x—65)> =850, T(y—13)> =32, Z(x—65) (y—13)=0
il el ASAGHLS AL

11, 10 Alsaxil 2lHs 3¢l X d 9 A dud 4w ¥y B 8. d wuledl vl suis usioils
0.6 oL . uleonel AsiARll sl WA Ul 5, s lsadl X A Y adidl sHil aa-l
dsldd 44 olgd 2 Al &dl, dl sHis AcAeitisdl wl Bud ol
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12.

N

10 lsd>l e 2AR10YAL 25 (health index) x -l UlRd 2y (Life expectancy)
y (a9 wledl doaami 2udl 9. suls AsAGULS WAl 2L HURAA $H UuAML 2d

N o A

0 A odl SHIAL dsladidl AUkl AWAWLL 42.5 HA 9. 2 s 70 HBdlML AL

NN

quid 2 U A 45 WAL 60 auid Yeladd Wi 9, dl i Miledl uddl suis
IS CTEREI IR

Charles Edward Spearman His many published papers cover a wide field,

Charles Edward Spearman was an English
psychologist known for work in statistics, as a pioneer
of factor analysis and for Spearman’s rank correlation
coefficient. He also did seminal work on models for
human intelligence, including his theory that disparate
cognitive test scores reflect a single General
intelligence factor and coining the term g factor.

After serving army for 15 years, he went on to
study for a Ph.D. in experimental psychology.
Spearman joined University College London and
stayed there until he retired in 1931. Initially he was
Reader and head of the small psychological laboratory.
In 1911 he was promoted to the Grote professorship
of the Philosophy of Mind and Logic. His title changed
to Professor of Psychology in 1928 when a separate
Department of Psychology was created.

(1863 -1945) but he is especially distinguished by his pioneer work

in the application of mathematical methods to the
analysis of the human mind and his original studies of
correlation in this sphere.

115 -
uALA6LY

s

¢



“Prediction is very difficult, especially about the future.”

— Niels Bohr

A [Rydel

(Linear Regression)
>

[Quyarq -
3.1 udlasil
3.2 v Radely wida
3.3 [Rudaield v vi-aidle-
33.1 [aslel 2uslasdl Ad
332 Yridy adlidl Ad
3.4 [Radeia-l 2qeqa-dl Guallidl
3.5 uslaarw ud AgAsials uAl [Ruqdeiais
3.6 Raasdidl s
3.7 [Huaeiais- ol

3.8 [Radaeia-l Gualadl pAval vwidl aladdl

: N 116
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3.1 Udla-ll

S UG U5 2HL AoitAl eI sAL AUl UG %Y, 5 ASAGHIS gl 6L A A 2Aeiy
B O 5 U ddl vl A 9. GuRid ddsil a-l [Fsedid Avalcts W uel 1o 69, U ASAMIS
udl s Addl sud Bud e dd 3w oflw ad-dl 2Ufd 5 sHlAd Brd dadl asidl el weil
Quid Y 6l UG a2 SIS Aeld 1t AR s Adsil sud Bud uell ol udsl iel¥d 5 R
Bud d 2eiadl Guadl s3I dagaldl #3Rud Glell aw .

gl., U8 aellal (92l 5 515 dagril MSAd-vA A d drAl AU a2 Aol B, ¢d ndAd-
vl S5 BHdd 23U dedril dARl Q@ A 529 SU dl g5 usAoin uel A Aadl usid el
L M2 [FMUdielAl GuyldL sdl %33 oA 6.

[Mudisi4 (Regression)dl aUl6gs e ‘ULIMA’ 2adl ‘UL BUd ds Ud wad’ 2dl A 9,
WA RISl 001 e(Mad U2 SR dlieet AL 2Ais4RAS AMaAN ‘[Hadioln’ el Guldl
sdl. [l 2 Yeddusl Widl 1000 A 2 GRS Rdl 258l 530 dud AL @ume diel Jawl.

(i) a9 Gudar fdie Yol ay GRS a4 gl Glandaon [didl yotl il Glans sud o,
(i) a9 GRS “Ruadt Wdidl a4e-dl w0 GRS sl dd-l Yolldl 2w Glus gl .

-~

(i) gl Gl wAaAdl Mdidl qye-dl qRg GRS sl dudl Yoli-dl A4Re Glus ay .

SN N

Guasti diel udl e ® 3 wiidl GRS dusil Rdidl Glus-iL Aeclii Wldss aqa sald . 2
qagd I8 o Hidacd £P1el A vor Gl HIRIRAL Al 6 GRlHL ASULS Al AL USIRAL AoifA galddl
AR sllRA olleen ‘[Hudbois) 2 AU 2w,

Mudaicis 21 6 Aol Ad 9224l RAUHS Aoit B, ¢ 20u8L 6L A4 422 51512211 2oid

© dl ydarel 4 d A4 9L Fudieindl e 59

=)

3.2 %\lﬁ"l Radieis Wk (Linear Regression Model)

SIS Ao 3 AMRAA Y Rl s 5 dl Ay wdlselAl e qidd sda 8. sd-sRuAL oM

qarddl 6 »4d QAL Aelan salddl vissiauslly Hiddd Mudeld qidd s& 0. M d sil-siel
A6 HAAAL UMD 51200 ¥3U AdA X A3 sulad . dd sl MU 2adl s1R8Md - (explanatory)
A slal U 51U A T oAl sl B, A UL AUE AL 2UWYSA (explained) Uet €l
Al Gelewll glal [MUs Ad i Wl Adedl 212 AHDI,
(i) AU’ A QAR QAL AslaHl AH Ad osdud-uA’ daB (3 82) dd S8 Al
gl af (3 a2) 9. Ayl 2uudl ‘neud-v’A MRUg Ad X dId A Qaerd wwler Ad Y
dls a9

(i) S [RedRHL ‘aale’ 2 ‘Al Glue’ a2l AdeluHl e 9 5 il Gy’ i ‘dle’
U IR AV O, dell U8l ‘aAle’ [FRUA AL X dlE A Al Guad ta w4 ¥
dls dady.

Mudaiolt H3ami Abe A4 74 MU A4 X< 515 d0u duifds [[Q8d gl 2% saMi 2ud 9,

gd UL A [Hudioi Hidad 1A yoor epvad sel

Y=a+ X +u
oL, ¥y = AU A4
x = [MRua 24
a = GAs
L = s
u = Ha-l [48u (disturbance) A
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~

e, w A A AG X A Y 42 Y Aeiadl wyeldl said 9. wslis [@sud (Natural Science)
FuL olRIdHl AYel 3w Aoin wsu D, dell eulld O 3w Brusi (@A ud -l Bud 0 ad. oflw
L €15 dl A 6L AQ X A ¥ 922 dyel Aseid €l dl Mudrield Wida Y=o+ X . Uid
qQuiz, ool wA AHBrs Qs ol ad 92 A Ad AYEl Y Aol wadl =2l e 3
Aol Al UR it URGOAL A UL AU B, 2d F U X A TV uG a2l Ay Aoy
Sl QY Fudield Hiddd @3u Y=o+ BX +u A 8. Guisd 2al uell v Mudisdn a0 wegiu
2w, a2 asi.

“of AgAoiBd Adl 921 dulBlas 5 (A8 Y3u Aeld 5 -l gL [HRUa Adxl 515 wuudl (sud)
BHd He dd 2id3u Awe Ada-dl BHdd 2 28 95 dd YRu Radeieln sé¢ 8.

3.3 [Rudieiy 3&1[*@3 il (Fitting of Regression Line)

~

6l Ao Adil [adlel 2islani ol oni Bigdil S5 il 2w % G dl vl sél adli
5, udl 922 v [Rudisid 9. 6 adl 920 2ol ealddl udl v qadadl uglid Rudisi v
AT 58 8.

Facioit vuddl el w2 o Adl 8 ¢ (1) [@8lel 2usla-dl Ad (2) yridy aoli-il d

3.3.1 [l auglidl Aa

WL 5 Asefd Ad X oA YAl vadisdidl 2 sBd s (x, 3,), (0, 9,)s s (X5, 3,) 0. 20

Wl well [8le isla erami »ud 8. ¢d [glel uslddi asterl ol % Bigii-l asd dedl dmwsal uaiz
A1y ddl 28 il elRAML A 9. % Y AWNE A A X [FRU8 A Sld dl idl i Y <l X uRsdl Radrield
Wil sdld 9 2 d udl [HRua g Xl 2utdl Bud urell dd 23y wba ad Yl stultd Bud Jadl
AsU 9. 2L UsIRAL vl glRAl W2 SIS LA %32 Ul A2l dal Mudioid Jutiml 2ieaidlogedl 241 400 244
Ul A 9. U M KA s AU BeMd 9. El-yel @lsail gel-gel i elRl 4% 2 dell [HRua Ad
X -l s o Bd Wiz gel-gel lsavil ata a4 ¥l B [@Qd gel-ogel a4l aadl a3, A [@sld
gl uell 2L olotd A0l A1 As .

s o Hiledl well otddl Al Qe suslani 6 yel-ogel Alsaxint 6 gel-gel W [ A L,

SRl 9. Al AS wusie 9 5 [Hue wd X -l

g SIS [BHd ‘@’ M1 de 23U ANa A4 Y-l
» A BHd ol g wrel C ) HaLl wIR
Y2 wil L, wEl d Cy,’ qael 2 [MRua Ad
X -l 25 o [Bud W dd id3u Aue 44

Y <l oel-ogel vl uRell gel-gel xquilHd Bud

ol 9. ddl 21 Fd ulsaasl (subjective) 2

L sl as 2 Aadl Hodl [Hudzisin ee

0 Av welUFd 0 A sl AsU SH 5 d-el

~

Ae Ad-l A U Bud o 4o 9 ddl
AS visll <l v Al FMudioit vl Haddl M2 yeidd qoli-l d-Al Gudldl Ml v 9.
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3.3.2  =ysidy adli-l d

QL 5 oL Aol Audl X (MRuer 2ud) 24 Y (uuer =)l aadisdidl 7 sBid g

(%15 1) (%25 92 )5 cvvveeens (s ¥, ) HAAEL B, rtctd AliAl Tk Al 2 i Rl @sled 2usla eidla,

A X A ¥ ARl qRu

r1 Fadioian saladl Ss v

WilW F=a+bx Sld, dl 2l

Wil AAASL g A b HYeldH

il Aaedl A e dadl
Asle B,

I 5 "4 x-l

x, [Budid 23y

yda YAl vl vyl Hadd

UL Budl

Fis Fas Fyoeies §, 8 L A Y <l

n

(X 3 (x5, 9,)

AU Sl (BHAL Yis Y25 Y3oeeeees Vo
9. ¢d Xl 85 Brad X =x1
0 w34 Y Al AUl Bud
v 9, =a+bx, A, Ad Y -l

A4
=

pra
~

§Aell3d BHd y; 2 A Bud §; azdd-l Glew (vertical) idR (p-2igd AHIAR 2id) 2ipuin-l A2
(error) 5¢ 9. dd e; a3 salay 9.

L=y =Y zyi_(a+bxi):yi_a_bxi
wdl, i=1,2,3,.....n

e 9 5 sl Guadl ouyHl [Blgyil e AR a2l A wusdl Al eyl Bigil we AR
B AL i ¥ [Bigdl Wil wR ¢l dal [Bigyil Hie e g all.
gd AU Wl H=a+bx (FFl X uadl [Fadeiois 3ul)dl 260050 g 2 bell Budl 21dl Fld

N SN

Qo A O 5 gl ARMIAL Adlidl ARAGL 2L 29 ANed I YridH A,
A \2
Held, Te? = $(y, - §)  ==(y; —a—bx,)’ Ui A,
ollogalfBael w0 uglall 21Ul @ 2 el ddl Budl dadl asla lal ¥ A0dL vildR 242l (suffix)
il vtaoRidl 1A Yo ©.

2(xx)(y-y)
$(x-3)2

nry—(2x)(Zy)
nEx?~(x)?

N

2
a=y—-bXx
2 Ad Anddl L H=a+bx [AE dusldl ol o Bigii-l wsd dedl sl uaR adl ww .

~

[Madaisis vl Aadd] auid ARAL dolvl AL HYetdd 524l 1A 8. dell i dd Yridi ailsl
Ad 58 W,
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N

2 Fdel HAdl b Al BHdd Yl x u2el FadRield vl [Hudieitls (regression coefficient) $& €.
A [adieid vl el (slope) UBL 56 €9 At 1015 g A [Fudielt il 2idnis (intercept) s€ 6.
MudRisitis b teuen

b =4 x -+l Budui 2ls s 38R el Ad Vel Buddl adl pud 38

N oA

ved %, U b>0, Maua ad X -l Buddi 2ls 2isH-dl QiR A dl ake 44 Y <l Budul
b sl ell¥d atiRl A,

WU p<, MU A4 X Al Budul 215 2UsHAl ARl AA dL que Ad Y L BHaul
|b| sl vieilsd aausl a.

A Ay B 5, Addd AUl Ad gkl Andddl RudisE vl A% wdild v a3 el
oY 9,
Al : (1) [Fadriclais b by, a3 ust ealdl asd O, %3RAd 4 weud dl A Ad Fadieibisd
WS 554 b Ay % sldlal
(2) ot [aslel suslani ol o Bigpil s o il U S dlL o4l % Bigil 12 212 9 ad dell Aita
24 yeil uHd Bud § 2 o dsdl wid AaediBd Bud i, dedl FHaddieis v a3y
P=a+bxloled y=a+bx U2l quil A5 AU O 5 2AL AANHL b >0 SlU dl AgAoibis 7l
(BHd 1 2™ 21 p< S dl Asbottls 7+l Brd —1 W,

(zmt'g;ct‘l e atisdl Hll.?ﬁcﬂ)

ALY A HUAACH 30 12 2% A-AUFd 0’ 6led s5d VAU 3l ldl Bedut sl

NN

U4 €9,

gd Ul [Rudeiels vl qaadi-l Sedls BGelgell sl
Gelsell : A AssA Su-dldl As WRardl sR 2wy (Quaa-a ad) w4 ddl e alls Feua
uwa W2 Aaddl dadisdl A e 9.

SR+ 2y (au) 2 4 6 8
AN wls Fetia v (¢n3) | 10 | 20 | 25 | 30

21wl Feta vl s 0y L RaudRioly v Aadl o sRed 2uys 10 ad §a d [eua
vl i ya Aadl.

e, ‘SR 2y FRua Uud 9. ddl dd ue X Al suidly 2 ‘Feua wEa wta Ad 9,
dell dd ¥ oad eaidlal. WlRdl oidl gl Fudiels il il w2 A door stes oty

SR AW eia w2l
\3( Y xy x2
(av) x (¢ %) y
2 10 20 4
4 20 80 16
6 25 150 36
8 30 240 64
54 20 85 490 120
120
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gd [Hudioidis <l 3ot aiHl

any—(Ex) (Ey)
nEx’ —(Ex)2

_ H(490)-(20)(85)
©4(120)+(20)?

— 1960-1700
480-400

260
80

3.25

. b=3.25
gd X,y A bl Budl gl YaAul Ysdi,
a=y-bx
=21.25—3.25(5)
=21.25-16.25
a=>5

ddl, ‘Frewavl (D)<l ‘siRel 20’ (X)) uedl Fadpioladl 2w

A

y=a+bx
$=5+3.25x
X =10 *sdi,
$ =5+3.25(10)
=5+32.5=375
$ =375
2, U S 2y Al 10 Al €l AR ddl A Fonamd T 375 ¢ U,

)

4

N

A b=325 © Ayl sdl wsiw b e Al (rHl sy $wR) adel, skl Mouawayl vies

T 325 €% <l adRl (Yul adl $8R) wy 9.

o N~ .

GelgRl 2 : s Sudl-l gel-gel UsRAL duaud RS daww (R dsNA) wA ddLl sl
(vt T ui)dl Sear o wasdl dod A yxe 9.

A 1 2 3 4 5 6
qddl  dqueiu-il

vl (AL ASH) x > 7 > 12 8 3
st (aw T) oy 8 9 10 15 10 6

2t wAl ¥ ol X urdl [RadRieln w Aadl GuRid X = 7 we Vol Budi apuesi
adl sz Ml
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dadal  dueiu-l 5l

Aval (D AsH)) (am %) xy x?
x y

5 8 40 25

7 9 63 49

5 10 50 25

12 15 180 144

8 10 80 64

3 6 18 9

s 40 58 431 316

7= L - 40— 667 3= 2 =B — 947

gd, [Radriolals bl (Bud {2 woor 2.

any—(Zx)(Ey)
nEx?~(x)?

6(431)~(40) (58)
6(316) —(40)*

_ 2586-2320

1896-1600

206
296

= 0.8986

= 0.90
Sob =0.90
gd X,y wA beil BHdl a Al Yot ¥sdi,

-bx

a =

<

=9.67 - 0.90 (6.67)
=9.67 -6.003
=3.667
a=3.67
i Pl X uzddl [Rudiois v
y=a+bx
5 $=3.67+0.9x

¢d X =7 e AR adl, A UM ddl Adzu Vsl aepud Bud Hadl,
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X =7 ¥
$=3.67+0.9(7)
=3.67+6.3

5L $5=9.97 A X
gd el Wledl wrell suuel S aslyl ¢lal 5, x =7 243w ¥ ol vadilEd Bad 9 9.

A e=y-3

=9-9.97
e=-097 am ¥

GelsRwRl 3 : s Sudldl sl ARA Avel w5 WAL 5111 AHRSIU W2 AL AXA A
ANRSIUAL WA a2l Aol aaial w2 1A oo Rl AsEl saml wudl 8.

SIRTll AHIRSIHAL UMY

N 32 40 25 29 35 43
(Hasalst)
ARSI wal (s %) | 25 35 18 2 28 46

1 wel Y (HRsid wA)dl X (RuRstidl ad) wedl Radeisin v Aodl ol srA
ARSI M2 50 sals ARldl €11, dl drl ARRSWMAL W 2 Aol

el n=6,)_c=&=M=34b{3[ y= % = 174 _ 99

n 6 6
AURSIH UYL | AHRSI W
N _ — — — 2
(iasaisl) (¢212 ) x-X y=¥ | (x-%)(y-¥) | (x-*
X Jy
32 25 -2 —4 8 4
40 35 6 6 36 36
25 18 -9 11 99 81
29 22 -5 -7 35 25
35 28 1 -1 -1 1
43 46 9 17 153 81
54 204 174 0 0 330 228
I(x-x¥) (y-Y)
b = -2
3(x-x)
= 330
228
= 1.4474
= 145
b =145
gd X,y 2wt bl Budl a -l Yol Hsdi,
a=y-bx
=29-1.45(34)
=29-49.3
wa=-203
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M, ¥ Al X udl [Radaiels 3w

y=a+bx
$=-203+1.45x
X =50 "|é\3('1.|'.,

$=-20.3+1.45(50)
=-20.3+72.5
$=52.2
WM, A AHRSHUAL AHY 50 5l €l AU AHRSMAL iAWl 522 (s ) A,

ALY 3.1

1. 25 drgell old (Ti) 2t ddl wioe (AL 2isdinl) (g Al 2uudl wlddl udl siodl oia uz-l
(Madioid vl qadl 24 2z ol T 20 $ld, QU Hidl 24t Hadl,

aa (%) 12 14 15 16 18 21
HIoL (AL 2 5HHL) 18 12 10 8 7 5

2. 512 orladl Susdldl SIReL S HIZA HIZ SIR AURAAAL AMA A Sl uRAA Alls [Fena vl
QL Aol A sl He Al wawer wledl Haaani wudl.

51 1 2 3 4 5 6
s1-qupA- vy (ad) x 3 1 2 2
AN Allls Meua v (822 )y 10 5 8 7 13 8

ML UL YV Al X udl (Hudweln vl A0dl oI SIR-AuRAAAL dME S AN i AR Allls
Metavialed st 4 d-dl AR ikl

3. 88 ds Ml uin Breami adal AuRAA aRule @AHHD) 2 wsd sd Gaued (enwi) [l
Hiledl 1A 2udel ©.

AW aue (AH) | 25 32 38 29 | 31

us  (e-t) 84 90 95 88 | 93

L 4l Ulsl Gauledsdl aale uedl [Hudieid vl ol 2Ad ol AW dAle 35 AHL €1y, dl
ddl Ulstll Gedledd Al Hadl,

dol UR s sl SITPIRIAL MAetd A ddel sid-5lael 205 (performance ratings) (A9 MRl
12 20l 9.

5131012 1 | 2| 3| 4|5 |6 |78
Byl () x 125 10| 3 |18 4 |12]16
s-Slca sisy | 83 | 75 | 80 | 78 | 89 | 68 | 88 | 87

2 uel sd-Slaed Aisdl ot usll Fudiois vl oRiddl 52 2 1S Bis SIKPRAL 2Md
7 i i, dlos-Slaed wis [ A S,

%
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3.4 [Maddea-dar 2«eqy-dl  Gualidl

Madioiadl sedls Guallbidl 1A Hel 8.

(1) ol Aol Al a2l [QBuLHs ol ol asiy .

(2) 2s auid [ABuIMs o WAl a5 ond ugdl FRua A4 X <l stid Bud uedl Aqua w4
Y Al wtslid Bude 2t wadl asi 9.

(3) 248l [MRuUa A X -l BHdul adl 2154 52514 Ad ¥ 4l Adl 2iel¥d 33512 el asla ol
(4) [Rudiols v uell wda Adsdl qguld Bud dinamt adl oa () el asa ©.

SN

AARAAL, AR, dElAl, adlaesdizl, dHASA a3 [Fudeln vor % GuAldil

ol 69,

Radeiaisdl Rl wedl sl Ad

PR X A ¥ il Budl w0l € mApaar »uEls g AR w2 xy Fdl uel-dl owdil
Wakd ol . 2L AAONHL As(AUs Yot AL Asd B, AL Yol FudisitisAl AL R u 2R 9.
o : [udaicitis Goibiy uRdd-el adat 8. uid WU (scale)il URAd-] ddat -,
A Yl X uasil [Rudriols il Mudioiais b=by, &lu, dl Guail s uadl d-i &4 Ad il
Y

o6l Qu{l WS,

)

1

~

(1) %A u=x—A 24 y=y—B & dl

B nZuv—(Zu) (Zv)

b=b, =b, = LY.
> v nZu2 —( u )2
N — ~ -B ~ =
Q) A u=A %3 y=I= du d
Cx Cy
c nzuv—Zu )( Zv c
bzbyxzbvu-c—y=% x A,
x nZu”—(Zu) x

wl, A, B,c, i ¢, wANSL O A ¢, >0,¢,>0

y

GeleRN4 : s AHS-ll AlBdsAl wls as (R Ti) wud wRs wAd (AR Bil) ad-l

-~

Aot oa@al w2 A AyeHidl wd Al Fed wdl A4l wRdl wa 8.

(5 1 2 3 4 5 6 7

wRAs 2was (8nIT)| 60 | 70 64 | 68 62 | 65| 72

s wad (s 3) 50 | 59 57 | 50 53 | 58 | 60

2 Rl ul AlFadldl wls vl wls was udl Radies v dadl o
sl A8 alFdl wls vwas 75 ¢ T €, dloddal s wAdq wpud dHadl

RS WAl MRS 295 Ul Fadeld v Anadi-dl 1S wls vl Ad ¥ oA ‘Hids vias’
A4 X Al sldle,
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sl = I o= Mlogsg6 wn y= =L = BT - 5509

del Ul A=65 w4 B =55dS u i v A yyo vl s3I asll

u=x-A=x-65 1 v=y-B=y-55

wWwhis 2as | s wa
(¢ T) | (s R) “ ! uy u?
=x — 65 =y - 55
x y
60 50 -5 -5 25 25
70 59 5 4 20 25
64 57 -1 2 ) 1
68 50 3 -5 ~15 9
62 53 -3 -2 6 9
65 58 0 3 0 0
72 60 7 5 35 49
$4 461 387 6 2 69 118

gsl A beil Bud A 3ot aldl asid

nZuv—(Zu) (Zv)

yx vie = nZZuz—(Zu)2

7(69)-(6)(2)

7(118)~(6)°

— 483-12
826-36

= 41
790

= 0.5962
b = 0.60

¢d, a=y—bx
=55.29-0.60 (65.86)

=55.29-39.516
=15.774
. oa=15.77
M, ¥ Al X udl [Rudziois vl
y=a+bx

y=15.77+0.60x
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X =75 Hsdi,
$=15.77+0.60(75)
=15.77+45

=60.77
$=60.77

Agl o siS Alsaddl WRs 2uas 75 ¢ T Q dl ddl vield s Wl 60.77 ¢ T A,
GelgR@ 5 : Gews@ 1dL 2la R w2, Feuavdl (P)dl sk 2wy (X) wedll [Radisia

vl 25l Ra-dl Gualar s Haal

s iy (al) x 2 4 6 8

Foavd  (¢x3) 10 20 25 30

el X Al ol o BHdl 2 a8 A Vel ol o Budid 5 a3 [Fean cudll asi 9. a4 ¥ =5

wd y=21.25 &, dedl 28l A=4,B=20,c,=2,c, =5 a9,

gd u A v A el rvalid s,

u=2A4 = x4 59 - yoB _ 320
Cx 2 cy 5
_ x4 _ y-20 2
X y u= T vy = 5 uyvy /)
2 10 -1 2 2 1
4 20 0 0 0 0
6 25 1 1 1 1
8 30 2 2 4 4
sa 20 85 2 1 7 6
b bvu_c_y _ nZuv—(Zu)(Ezv) o S
Cx nZu®—(Zu) Cx
4(7)-2(1)
T o462 * 2
_ 282 _ 5
T 244 7
— 26 5
20 X2
b =325
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¢d a = y-bT = 21.25-3.25(5) = 21.25-16.25 = 5
Y Al X udl [Rudels v
y =a+bx

$ =5+3.25x

g 3 N by NN ~ C ~N . ~ 2 ~
A 2 el 0Ll S wslo Sl &, by, = %—8 = 13,43 R == = % aAd ARl U AR YR
X

~

b=13 x %: 3.25 (GelgRul 181 Horedl 3qagor) Hol 9, dall 2Rl A1 AslL SlaL 5, B Ad X ve/2adl

R . NN ~ 2 ~ € N NN
Y+t Hn (scale) WRade 52l 209 dl b Aol W2 b, 4 5 Al @l %32 U 8.

X

Gelsw 6 : daud Akl s YRaRlAwi wg al [@Rudl ewmar w2 dwdar Renellnikl
Awd RendllAl s Fed aS du ofgddl s (LQ) i dudl 75 @l ulawai
qadd Rl wldl 1A auddl 8.

fenal 1 2 3 4 5 6 7
1.Q. x 85 95 100 90 110 125 70
Sl y 46 50 50 45 60 70 40

2l wel p o+l x uwrdl [udein v qadl w4 S [@endldl LQ. 120 €, Al d-i
ARl AP A dguid LQ. 100 €1 U wuul adl R ikl

wél, n=7, x= = = 6;—5 =0643, y = =L = 3761 = 51.57

n

X oA 7 Al Budl |2, dusi qest »yals 2 X <l ol o Badl 5 a3 et ool asii ddl
glatefl 2udl 281 a-dl Gualo s3g.

A=95 B=50, ¢, =5 c,=1 d 208 u 24 v {ld Hwer cpvulid s3I

u==-"""73 A y= c =T=y—50
1.Q dLBL u v
2
uy u
x y - _x—595 =y - 50
85 46 -2 —4 8 4
95 50 0 0 0 0
100 50 1 0 0 1
90 45 -1 -5 5 1
110 60 3 10 30 9
125 70 6 20 120 36
70 40 -5 -10 50 25
54 675 361 2 11 213 76
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b = nZuv—(Zu)(sz) o Cy
nZuz—(Zu) Cx

1@ |

7(76)~(2)* 3

= 1491-22 1
532-4 5

_ 1469 _ 1
28 <5

— 1469
2640

= 0.5564
. b=0.56
¢d a=y-bx
=51.57-0.56(96.43)
=51.57-54.0008
=-2.4308
. a=-243
adl, ¥l X uddl [Mudieis 3w
y=a+bx
$ =-2.43+0.56x
X =120 H&di,
y=-2.43+ 0.56(1 20)
=-243+672

$=64.77 22

ddl 2 s [AanelHl LQ. 120 ld AU d-ll 2R el 65 .

¢d 1Q. (X) = 100 32 2 aldal Aman ¥ «il spud [Bud

= -2.43+0.56x

>< <>
Il

100 dAdi,
$ = —2.43+0.56(100)

= -243+56
= 53.57 S8l

£ .
.

=%

k <>
I
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A e=y-
=50-53.57
e=-3.57 2l
Alf : oo e Avd @Rl B 5 [FRua Ad (X) <l ssd A oo Budl e AR ddl wsu o %
el M2 de d3u e Ad (V) <l ud AdediBd Budl sid €.

2l 2L GelgRHL X =120 24434 ¥ L (BHd-l 2l adl AR bl 4 asid 345 X =120
§A3w ¥ Al U 2AddlfEd BHd sud -l
BelgWL 7 @ YIul AsAeln usWU BGele 12+l 3l A @l vl sl da u-dl Rudiey
il Aadl AR AAR 3 KA T S AR AdL sld APUL KA
d Geleel vl vl onelat ¢la 3,

_ X-A _ x— 3., = _
=T o1 Tty g 100

L e, =01 A ¢, =100

X
A AAldflal 5 oMl AL vidR  (x—A)l 10 94d dRAL edl 3G ¢, (x—A)l el

elendl ¢ -l Bud = 0.1 A,

L
10

(o 10 a3 oAl ed ¥ = 0.1 43 odLaL.)

1
10
N B nEuv—(Eu) (Ev)

nZuz—(Zu)2 8

o
<':|\<

=

920-0)() 100
9(60)—(0)2 0.1

_ 1089 100
0.

540 < 0.1

108900
54

2016.6667
2016.67

~ b

I

¢d a=y-bx
=5611.11-2016.67(2)

= 5611.11 — 4033.34
a=1577.717
ddl «sl (¥) -l Qe (X) udl [Fadaieis vl
y=a+bx

y=1577.77+2016.67x
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X =3 ¥di,
$=1577.77+2016.67(3)

= 1577.77 + 6050.01

$=7627.78
M, U AR 3 5 T AR AU A H45L 7627.78 (s ) Al
P (uagl ) N

dd HI8L 1241 weUR sl Sl d Al el Rl W efde dHzl HilRis 5120 2ias
A HIRS WAL dladl sl s d udl WS wAHL RS 2as usdl Mudisi v Hadl d
uell usslAl el oyl Ml 2ids W2 A HRAAL WA A 52 AUl HIRAAL dd IR

\b{zi sedl Ald B d ASIAL VA dMIRL UL 2l AR Ml

J

3.5 usfAuW xA AsAoibls Al [Ruduelals

o1 6 AL X 24 VAl [3aet MUl Wi Heus, uHIlBld [Qaed (waal [a2e), Asla§1, AeAoibis gl
ARYAS HIU (summary measures) %RIAL €LSH AU [Faddoidls 2 [Raddieis e 12 ool oidl asi 9.

2

5 (@adl s) 2 Cov(x, y) %ol HIML %edl €lSA AR,

N - — 2
() 2R X,y,s; (a4l s,.), s

sl (x,y)  Cov(x,y)
xR - 52

ud a=y-bx

ol Cov(x, y) =

Z(x—;?) (y—i) _ Xxy—-nxy
n n

R C) P ()= 22 e

2

) %Al WU wMedl SlSB QUR,

(2) R X, y,rs, (Al §2), wd s, (Al s

y'j;LL.[EL Sy
b=r.- 2= = .1
x':lsll.[at. Sy

a b o<l Badl H8l, ¥ o<l X urdl [Rudiold v 2ed 5 j=g+bx Hadl asi.

gd UL Sedis URYAS WU Ul €l A [Rudéieit v dladidl Sl dal Gelgwll
asa.
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GelsW 8 : e el el (ARl AvuAl elPAad wdar awe AL (X)) wd euaRlHl
Qua [sarea uld &5l (V) adAel Asia-dl 20 aAl W2 daddl  wl8dl  ural

A oAl wu WA 8.
n=10,x =40,y =175,s, =12,Cov(x, y) = 360
L wAl Gy Pl aAe X u+l [Radueis vl Haql

»él Cov(x,y)=360 i s, =12 - 57 =144

Cov(x,y
L o)

Sx

— 360
144

b=25
wd a=y-bx

= 175—2.5(40)
=175-100
©oa=75

i Pl X uzddl [Rudeiois v
y=a+bx
y=75+2.5x
Gergal 9 : ol alls 2nas (x) 4 yAa sl géad wlls s (Y) A o ad
-l AU 5L s wdwidl Haddl 100 sgeldl [Med wlBdldl R A
galcdl 9.
X = giol allls 2uas (am T ui)
y= &3t waypa sail alls s (s T oui)
x=35.5, y=405, s, =12, s, =12.8, r =0.65
L WRdl wdl  gdert A sl Asakl gdoedl  alls dwas wrddl  Radlely
. Aadl. A A8 gdadl alls 2was 45 av T &, d ddl y@pa s alls
ASBIL 2t Hadl,
2él n=100,x=5.5,y=40.5

sx:],2,5y212.8 e r=0.65

- S
¢d b = p. L
sx

128
0.65 x 5

6.9333
b=6.93
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wd g = y-bx

40.5 — 6.93 (5.5)
40.5 — 38.115
2.385

a=239
w4 el X uddl [Rudeiois v
y=a-+bx
$=2.39+6.93x
X =45 ¥sdi,
$=2.39+6.93(4.5)

= 239 + 31.185
= 33.575

$=33.58

dell, 2uR 58 géordil alls 2ias 4.5 avt T A AR A 844 Alls 2ield As@ 33.58
g T Al

-~

Gele@ 10 : s olaid  oradl susdldl el addl eds Wl vd  edaldqdl eua  (Tai)

~N ~

A d o AHA elaudAql yrast (dlsdiui)dl ld 2uddl ulsdl uwel sur  elausdl
ald 40 T €11 QAR ddl YRasld i dadl

alotd cua (x) was ()

AL 30 500

el 25 10,000
r=20.38

2l X =30,5=500,5; =25,5; =10000 - r=0.38
s2=25 ¢l 5 =5

s7=10000 &l s, =100

2wl ol x =40 He YAl Vel [BHd-d 20 s 618 20Ul Vil X u-l [Rad 2ieid v Hadlel,

N
Sy
b=r~sx
= 0.8 x %
h =16
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a = y-bx

= 500 — 16 (30)
= 500 — 480
a = 20

M Tl X uddl [Madaiels v
y=a+bx
y=20+16x
X = 40 ¥,
$=20+16(40)
=20 + 640
$=660 isHl
ddl, e T 40 23U YRdASL ML 660 isHL 22l
GelgR@l 11 : e[R MRd-AL s Aunl s alsd via ueinidl oddl AxAld Gaed 53 8. aula
ol d AHAL v wsia ddl €la 9. wAlRs €W del S UM d AL AR w1
Y s3d O, Beal © WML AW eua (T Ul) xA d-l wior (AL AAsHL) wal A
wReuul wa 6.
n=6,%x =45,y =122, %x* =439, Zxy = 605
L UL w2l AL uiar (Pl oua (X) udl [Radeeis vl Wbl 24 sua I 10 €l
QAR ANALAL Widf AL S

wil o= 2= P75, §= = 12 =02033

nxxy — (Zx)(Zy)
anz-—(Zx)z

6(605) - (45) (122)
6(439) - (45)°

— 3630-5490
2634-2025

_ —1860
609

= -3.0542
b = —-3.05
a =y-bx
= 2033 — (-3.05) (7.5)
= 20.33 + 22.875
= 43.205
a = 43.21
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U Y Al X usdl [Hudaiei vl
y=a+bx
$=43.21-3.05x
X = 10 ¥sdi,
$=43.21-3.05(10)
= 43.21 — 30.5
$=12.71

ddl, @R cld T 10 €l AR v vl 1271 (A 2Asl) €l
Gelgw 12 : s Su-l gl GAullRd uanassl gl dlaoll Goaulled sl s AsUAL Yel-Yel AHY
van-dl Al (Bl ul sals) a4 dlyul-Gauien (die) [@QdAl WA sadlsdl AdaHl sl
d wel ld yoer wledl wa © :
yan-l ala = X BHl ula sens
dlaul-Geuled = ¥ aie

¥ =20, y =186, Zxy = 23200, s> =50

2 HfRdl wel dlwellt Gauet (Y)«l uan-l ald (X) uwredl [adeiels n dAaql

g uad-dl ale 25 Bl uld sas €l AR vielyd  dlavlld Gaued Hadl
2w, n=5, Sxy=23200, =20, y=186 >4 s =50

Cov (x, y)

23200-5(20)(186)
5(50)

— 23200-18600
250

— 4600

b =184
a=y-bx
= 186 — 18.4 (20)
= 186 — 368

“a=-182
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U Yl X udl [Hudels v

y=a+bx
$=-182+18.4x
X = 25 ¥sdi,

§=-182+18.4(25)
= —182 + 460
$=278
ddl, 2 vasdl ala 25 Bl ulasals $ia R ety 278 die dlavild Goules i,

WY 3.2

I SWRACL WS UR bldRAl auRladl AR oaRdl Hie sl s seduHial 12 yaer ddl Hwa o,

vdRAL au (10 Bal) x 28 35 25 24 20 25 20
swA-l ws 8serels ([saved) y | 128 | 140 | 115 | 120 | 105 | 122 | 100

L Ul ¥ el X uredll [Haddeis vl Hadl 2 viidRedl auRg 300 Bul 2dl ¢l dl dser €ls
SURAAL Uls Il Hadl,

2. [dl 2 yadl Glns a2l Aol AsiAdl W2 [dl 2 yod addl Yol s sl 1A sutel
wledl uel yoedl GRSl [l Glug wsdl [Hadzisit v Hadl.

Rl Qs (AW) x | 167 | 169 | 171 | 168 | 173 | 166 | 167 | 165
Yal Gl (A1) y 158 | 170 | 169 | 172 | 170 | 168 | 164 | 167

auR sl [l GRS 170 Al €l AR -l Yoisil Glud 2 520

3. Agauwdll asdl GlauS (altitude) A4 d 200 SaUMi 2A615 HiEAYAAL WL [Ad-l {1
WAl uell 251285 AL R (V)< axgawldl Qs (X) uredl Fudisin v Hadl,
(305 Hlex = 1000 g2)

-l Glas (3054ler) x| O 1 2 3 + 5 6
UASIS 2LEN%A (%) p | 209 | 20.1 | 194 | 179 | 179 | 17.3 | 16.6

A 51 -l ArgAWAL GRS 7 2ism (1 254 = 305 Hl22) S1d dl Al gl w1A515 i[5
2slRIAL el HOdL.

4. s YRl ASAL UL AURAAAL %oUL 1A, HIRLS GLLSL AL Aol 2Rldl HI2 12 WHIRL HUlEdl 258l scuml

211 6.
aua-l @oul (ARA W) x | 55 60 75 80 100 120 140
TR Ollg )y 18,000 | 19,000 | 20,000 | 20,000 | 25,000 | 30,000 | 50,000

L Ul Y ol X urdl [Rudiei vl Hadl oSS aedl auaadl ooul 110 A Hle: €,
dldd RS g sed 89, dd A s
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7.

s Haul URRA vtadl Assi-l val 24 4Rl (sd ¢ T) AL ielt ozl W2 1A ool Meal
Hiledl 1A 9.

Al sIHl AUl x 50 | 70 | 100 | 70 | 150 | 120
el (s eIy | 20 | 20 | 25 | 14 | 40 | 25

L Ul ¥ o<l X uRsdl [Haddeln o dadl o siS 2s Rad 80 wssl d Hladl Heausid d dl
Hldul Seq, AUl 24y ¢ dd A S

A5 ASML susrl deml s e WSl U Alls A5l (aet THE) 2 w2 alls adladl-
ua (dot )AL Rl A yoo 9,

1 s\ agladl-vial
atild (am Tal) | (am T i)
X y
ey g 60 25
yyiRd [aaa- 6 3
aglar = 104

L uYl Y ol X usdl [Hudaisin v Hodl
AAAUAAL Yel %Yel dlesiHl U AR aAle (AHBL) A usd-l Guy (saed wld dser wi)
Al et oAl sl sl Hildl uel A uRudl wa 9.

alod aALE il Glu
(Al) x (Farea ula &seR) y
Heys 82 180
EEEL] 64 225
ALkl = 0.82

U aRAe 60 AHl ul R adl HsSHL Glua v Hadl

NN D NN LN

sigl aluadl o2l (Ra)dl el THL (X) 24 d-l Yasl Al ssHHE (V) AL dolardl vedy

)
~ ~

50l w58l sl MBdl ueEl AL uwReuMl w6,

n =10, Tx =130, %y = 220, x> = 2288, Txy = 3467

2L HURAL well ¥ il X urdl [RudRieis v Hl 2 eld T 16 €l QU YRasld 2l s
s AU GAlouHl gl el 9 [l eHA HedH dludid (X) 2 2S5 AR (V)~L
dloid el 1A woger Wwilgdl wa 9.

Hedd diuHid = X (Rl Aluuuni)

ALHASH A = ¥ (et TH)

X =40, y=1.2, Zxy =306, s =20

2L HUSAL well 2u5As1HAL ARl ey diudid wRsl [Hadieid v qadl. o 518 [Badd Hedd
dludid 42 Rl Al@ua €, dl d Rad 20suslHAL ARl el Hodl,

*
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3.6 [Ranasdi-l s (Coefficient of Determination)
ARl ellal ol 5 [RadRiolt A ol dAoifd Ad a2l [@RaeLs et © A FRua Aa-dl
s [Bud e dd 243w e Adsdl Badd 2 sl d Guadll o, 2ial siepiddl [Aaasludl
ARAL Hed s HU FaEsdil wHis 6.

NS

QL 5 ¥l X urdl [Rudziois vl §=a+bx 9, dl AUa A4 ¥ <l xadis udl Hadl 2AadilEd

BHdl y 2 del 243w [Rudiols vl uedl Hddl d-dl 2puRd Bodl § aida dsdoitisl

A Raasdidl 2§is 58 8. dd R? o3 salain 9,

R = [r(y, 5})]2

Al Sl ARl wsin © 3, @l 6 Ad QAL AolHAL eAAHL R2D ML P (x, y) 2ed 5 2
ged, o UL .

2 . . c
=[r(v.a+bx)] .+ Glor [Blg A MY 6l uRadrgl]
[r(» )T roddol 9. ddl H(=a+bx)

5 yaHidl a ol 53 ARole b Al
=Lr (=] ot 7l Bd sleetdl Al
R2 — r2

§H, R2=,2 sl vl sl wslpl 5 wla Ad Yl AHd Buddl Qaadadr yead X
A Y ARl ARGlHls UR MR AN B,

A r=+] S dl R2=r2=1 A A X A ¥ 923 Ayel Au Aol A, Al 2uud sél asbl
5 [Hadioid il wddl dada ¥l sqHiHd Bod 100 % [Quasdly 9. uig 2 r=0 ¢ dl R?=r*=0

A X i VAR YR AeRioln A2l dell 2uuel sél wdla 5, Rudrieln o urell Hadd ¥l 2ulAd
Bud Blaga [Quadla

N NN

Guasil 2l ual e 9 5 R2l Hidl Bud 6 Ad 92 gl v uediold suld 8. dell Fanasdi
§is (R?) uedl yui [Rudrioiadl e oy 8 5 53 d asil asid ©. o R2l Bud 1 -l 9ws

~ ~

Gl dl X Al 7 oaddl el yvl [RudRieln © il wen oy awud v ol R Bad 0l AAws

Gl dl X A ¥ oazadl Aol A 9 ddl wien Aoy owuy <Al

AL A TV HL Adl g $eR™Al Sed Add [RudRiold vl glal AxAdl wsid d Raadidl s
uel Hol 9. sld., %l 515 HRAL W2 #=0.9 €l dl Faudsdil 215 (0.9)2=0.81 i 24 del 2 x 100 %
= 81% Y, ed sdl wsld 5 A ¥V UL adl g AdAHidl 81 % AddA-l unydl Radrioln v uell
i 9. ddl 2wl sl wslal 3 ude 53¢ [Muddieifd A Wa 2L Hledl we dy o,

Getsal 13 : «lAAl stesui gel-yel Sudlii s sl asfisl sRIRAAL wqea (auui)
A du-l WIS wur (82 THl) udal 9.

Ao (ad) x 12 8 16 20 5 14 10

HswaR (¢ )y | 22 15 25 30 12 24 20

0 URAL wedl Raasdit Aisdl awdl A duy ded A RS WU ad JRv
RadAeia-dl weu aswl.
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Ao Wls wour

(a¥) (202 ¥) xy x? »?
x y
12 ) 264 144 484
8 15 120 64 25
16 25 400 256 625
20 30 600 400 900
5 12 60 25 144
14 2 336 196 576
10 20 200 100 400

54 85 148 1980 1185 3354

nXxy ~(3x) ()
Janz—(Zx)z-lJnZyz—(Zy)z

7(1980) - (85) (148)

J7(1185)~(85)” - |[7(3354)~(148)’

[13860-12580]
[8295-7225] - [23478-21904]

(1280)
(1070) - (1574)

1638400
1684180

0.9728

. R* =097
R2l Bud 097 8. 1<l v <Azs O, dell 20l s¢l Aglal 3, 2@andl a2 wou s 922
A0 [RudRiolt © w1 WL dLdY oLRuY,
Ay 0 GURAL BelgRRML u=x — 4 U v=y — B (34l 4 4 B 50 xA0 [Fudl) ddd uel
R? ol s,
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GeleQL 14 : Al AlAdL 21 AUl elall Wil calsaildl vl gL A6l 2ARlaL 9 ASA WS ARdl-HL
Aadl (Al Blels) wA wndl-l selal Wlsidl eelail (22 ) [ 1A ool wlsdl wd 8.

Aadar (A BHlels) x 12,000 14,500 19,000 | 17,500 13,500 | 16,000

gelalldl Aval (g2 ¢Al) y 80 60 90 80 40 30

L Rl Yl ¥ v X utl Fadeit v dadl. ol 518 ad-l Aladl 15000 (N BHlEls)
Da dl dui wndni eelell Yol edBildl Avad s s, 2 Radrioln ddaxdl Qaa-lad aswil

wdl, n=6,5= =L = 0 _j541667, y= L = 30 _ 333
n 6 n 6
sl A wsl a5, Al X Al Budl 5000 dRisHl 2 dqd ¥ o<l BHdl 10-0 oyl 9. dal
A4 = 15000, B = 60, ¢, = 500, ¢, = 10 a8 20l 25 Al Buddl sgl. ¢d >uul u 4 v A

wogor quAId s,

_x=A _ x-15000 ., . _Yy-B _ y-60
== so0 Tt V=TS 10
ol gl zivan u y
(al (34 €ls) (e ¢oR) Cxo15000 | y-60 | w | 2 2
x y 500 10
12000 80 -6 2 -12 36 4
14500 60 -1 0 0 1 0
19000 90 8 3 24 64 9
17500 80 5 2 10 25 4
13500 40 -3 -2 6 9 4
16000 30 2 -3 -6 4 9
54 92500 380 5 2 22 139 30
b= nZuy — (Zu) (Zv) o Sy
nzu® - (Su)? Cx
_ 5e)-@ 10
6(139) - (5)° 500
_132-10 1
= 83-25 * 30
- 122 1
= 809 30
- _122
40450
Sob = 0.003
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a=y—-bx
=63.33 - 0.003 (15416.67)
= 63.33-46.25

S.a=17.08
Y-l X uadl [audaieiy vl
y=a+bx
- $=17.08 + 0.003 x
X =15000 &l

$=17.08 + 0.003(15000)
=17.08 + 45
. $=62.08
dgl i adadl ofladl 15000 €, dl dxi AL el lsial el suid 2AvaL g2 e
62.08 =62 .
¢d [Hudois Hiddadl [Gauadladl FRaiasdidal s 2 uel asidl asid 9. qdl »uuel d 2adat

nZuv—(Zu) (Zv) i

2 2
RT=r"= \/nZuz—(Zu)z ~\/n2v2—(2v)2

__ [62)-0)aF
|6(139)-(5)7 | | 6(30)-(2)" |

(122)°
(809) (176)

_ 14884
142384

= 0.1045

- R*=0.10
Rl Bud 0-l vou Aws dlael Mudaioln Hida [Qaasda © dd sél asa -l

3.7 [udrisitis opaus

(1) AAGlULS 7 A [HUdRAGHLS b ol REl A Sl 6,
(oo ol ol 5, wlid [Baddl s 2 s, dRAl A9 G B A —1<r<] S| 8,

N s S SN . NN N N
ddl b=r- = udl WD wsw B, 3 r i R& ¢l d ¥ R& b < ua ad)

X

(2) [udrisitis 2 Gabig uRad-dl 2adal © uid U (scale) uRdd-al edat e,
(ot @l [gd Aul Fudsitisdl a1l 251 Ad-dl angdlui 24 D))

Al 0 Y Al X owrdl [udieln vl énal (X, ) Biguisl uae ww 9.
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Gelg@l 15 Radl Gaus AdBiL (X) 24 yed au-t wadl GRS Adlal (¥) AL 2eiy
Rl wdell s Fednl © Rdryadl o wie sami 2ud 8. d wdl 3adl

wRewell -l ywe 8.
x =1020, Ty = 990, =(x —170)” = 60, =(y —165)" = 105
2(x-170) (y —165) =45
L Rl WAl yed autt Yl GRS (Pl Radl G (X) wrdl [Radriein 3w
Aadl. Ay [Radies widadl [Raudladl as.

2(y-165)° =2(y-73)> =105

E(x—170) (y—165)=2(x—)_c)(y—§) =45

p - LD O)
Z(x—)_c)

_ 45
60

Sob =075
a=y—-bx
=165-0.75 (170)
=165-127.5
s.a=375
w14, ¥ Al X udl [Rudzisi vl
y=a+bx
5 $=375+0.75x
¢d, [Mudiels Hidadl [Qau-dladl a5l Faasdidl 208 RP Hadlil.

SR (b5) |

S S

_
~ (60)(105)

— 2025

6300
= 0.3214
. R*=0.32
RZl (Bud 04l s elcuel > [Ruduels Hizd Quadla 9 du sl asiy Al
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GelgW 16 : () A Y +il X url [Rudeit vl §=12-1.5x €l 4 X vl HAs 6 <,

dl Y Al Hes WL (i) A Y (il X uwedl [Rudeiein v 5=11.5+0.65x S A

y=18 &u, dl x+l [Buda L.
(i) 2wl el el 3, Fadaisi v (3, §) BigHiel daal uauz a9, dall Fadrisi v alsam
xoell %o X Usdl % F HA A % Yy Al AL § oAl w0UBL Y Usdl ¥ x HOL A ¥ ¥ AL
§=12-1.5x40 x -l @UA X¥=6 s,
$=12-1.5(6)
5 P=12-9
L9=3 adl y=3

WM, VAl HHs 3 A,
(i) Gu-l 2l “ool H=11.5+0.65x4i I oled y=18 Hsdi, ¥ x HA d ¥ 2l
$=11.5+0.65x4l y=y=18 ¥sdi,
18 = 11.5+0.65 x

65 = 0.65x

_ 65
T 065

x =10 a4l ¥=10
WM, X Al MRS 10 YU,
G 17 : (i) 2 x¥=5,y=11 1 b=12 &, dl ¥ <l X u-dl [Mudieit il Hadl.
(i) B ¥=60,y=75 2 s2:Cov(x,y)=5:3 &, dl ¥ <l X wril [adrisin
ol i od Wl x =65 We ¥ <l Buad wud dadl
(i) €l p=12 ddl ¥=5 24 y=11 9.

¢d, a=y—-bx

a=11-1.2(5)

V<l X uzdl [Rudeieln el 1A ool Ha.
y=a+bx

S P=5+12x
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(i) €l x=60,y=75 - si:Cov(x, y)=5:3 0.

sf : Cov(x, y) =53

2
sy 5 - Cov(x, y) 3
Cov(x,y) ~ 3 ciell s)% -5
G, pe %;‘y):% - 06

Sx

wd g=y-—bx
=75-0.6 (60)
=75-36
T a =39
Y <l X uadl [Rudioin v 1Ayl Ha.
y=a+bx
$ =39+0.6x
X =65 ¥sdi,
5 =39+0.6 (65)
=39+ 39
P =78
§WH, X =65 He V-l squlHd Bud 78 .

Gelg@L 18 : (i) ¥ «ll X ueil dradl¥d [Huduelt vl 5=50+3.5x ©. % Ul il e eHl
s vadis (16,108) L Gualol il €, dl x =16 e Y il wpulid Buadl A2 sl
(i) A §=22+0.8x Uil rAABAAUL 25 vadlst (10,30) -1l Gualol a4l &, dl
X =10 W2 ¥ il apuld Buddl o2 il ol oasr well 2w o dirdl ast ?

(i) $=50+3.5x Hl X =16 ¥l
$=50+3.5(16)
=50+56
. $=106

~

2 2delllBd WAl udl X =16 we Y =108 ©.
AR e=y-9
=108-106
e=2
§WH, X =16 He ¥l A Buddl 2 2 .
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(i) $=22+0.8x4 X =10 ¥,
5= 22+0.8(10)
=22+8
" $=30

v A4lllBd Hledl wel x =10 M2 y=30 9.

A e =y-9
=30-30
e=0

§WH, x =10 #e ¥ -l xpulfd Bxadl AL 0w o,
l, Al BHd i A & dell 2uusl sl asla 5, Big (10, 30) 2 viadifyd v §=22+0.8x
U o wldd Sl

A4 0 Yetdu @il Ad uadl Fudeicl vl GuHdl des widal Blg w2 AR 4d, A d2s
wuddl Big M2 oAl B A i U vudal By we AR g wl.

Getsadl 19 : (i) 2 ¥ -l X sl [udrieis 3w §=25+3x &1 w4 Cov(x,y)=48 <€l dl

X 4 wuld [Qaad Aadl 2 ¥ 4 wuld [Qadad 15 €1 dl Rasasdl sis w

L. (i) Gua-l uaml el [Radieis v e o Y <l Budul ey 15 AsHi-dl
AL sl &d, dl X+l Buadi Seal sl QUL AL w7

(@) el x uzsdl [HudRioid 3l §=25+3x 1 dell AL €U §=a+bx A Avlddl [Rudioals

b=3 A ©. ¢d Cov(x, y)=48 2uud gl

B Cov(x, y)
53
A8
3 = 5;2c
52 =16
s, =4

M, X A wRd [Quad 4

gd Vo wHBd [Qadd sy=15 2udd 9.

Cov(x, y) ?

ddl, Ranasdidl s R? =
Sx . Sy

R = [4;1_%]2 =(0.8)> =0.64 .
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ol  d

1)
2|2

W
A~ &E

3x
=15

sr=0.8

~

SR =r"=(0.8)" =0.64
gald © 5 X <l Budul 25 Asu-dl qHIRL
Y Al BHadl ety 15 lsHIAL QL Sl

(i) €L, $=25+3x O A [Mudioitis H=3 o,
Al dl Vel wilid Buddl 3 sl asiRl Ay, del

% —5 BsHIAL AHIZ s U3,

%
%

Sl dl Xl Budwi

-~

Gelga 20 : (i) A ¥l X urdl [Radeln e y=5+5 w5, i85, =5:8 & dl

Fanasddl s Aqdl (i) 2 ¥l X udl [Rudiels vl 4x+5y—-65=0 <la dl [FadRieiuis
bl [Buda .

@) 7l X udl Fuddiolt 2 §=£+5 = Lox+5 A4 upd [@IY =g+ bx WA AAdi

.QS)

a

2
r=0.8
Maasdidl 2l R2 =42 = (0.8)2 —0.64 .

(i) Yl X udl [Rudeioid vl 4x+5y—-65=0 2uudl ©.
¢d A drl AU 1ZUHD Sl

4x+5y-65=0
5 5y= 65-4x
. — 65 _ 4x
YT 5T s
~y = 13-0.8x
¢d drl P=a+bx WA AMUAAL p=—0.8 HA D.
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